Efficiency vs Dxy(PV)

S 0.8
o
S
x
kel
[
>
>
Q
c
3
Q
=
()
TP I E1e ATV OO
) Bt
I A Tt | =
o HHHH:H‘H HlHH .
09E55T15-10 -5 0 5 10 15 30725

TP dxy(PV) (cm)

—=— DQM_TT__CKF_ORIG

I Efficieng] —— DQM_TT__CKF_MODIF

efficiency vs dxy(PV)

Ratio

=-1-0.8-0.6-0.4-0.2 0 0.2 0.4 0.6 0.8 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
1.

T
P

efficiency vs dz(PV)
o
@
T T

o
ey
T

1
»
J

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)

S 12r - -
o : N
5 : :
o 1 ey -
> . .
> . N
Q . .
5 08 B EERCTRTTECPRTPRTEE
o . .
£ : :
[} . .
0.6 g g
0.4 FE  RRTE REEED
'n*f i
065 0 0.5

1
TP dz(PV) (cm)



	Contents
	Page 1


